REVISIONS
F“.‘ﬁkm RESISTANT GLAZING OPTION— IMPACT €000k | = =1 i T
. — ]_gev Per ER A3/
RESISTANT GLAZING SYSTEM MAY BE INSTALLED IN TOP 13 GA HORIZ ANGLE A 20 GA CENTER STILE [3070¢1 B N/13/12 GRT |
OR INTERMEDIATE SECTION (WITH OR WTHOUT DECORATIVE \ 16 GA END STILE Bl W LA S T T AL
INSERTS). GLAZING SHALL BE 1/4” POLYCARBONATE. ! HEET NOTES FoR T | &, [T |
MAXIMUM GLAZING Dmmsons SHALL BE 11° x 17 13 GA FLAG ANGLE \ 0 ‘
FASTENED WITH #8 X 1" SMS: 3X ALONG . .
HomzoNTAL AND zx ALONG THE VERTICAL. SEE DETAIL E 15 GA MIN HORIZ = .
ON SHEET 2 FOR ASSEMBLY DETAILS. HoRiZ ~ . A o]
2. VINYL OR WOOD DOOR STOP NAILED A MAXIMUM OF 6" K o 4 ° e
0.C. MUST OVERLAP TOP AND BOTH ENDS OF PANELS 5/16x1-5/8" ™~ , e ° o
MINIMUM 7/16" TO MEET NEGATIVE PRESSURES. LAG SORESW (MIN 3 . ® o
3. KEY LOCK, SLIDE LOCKS, OR OPERATOR REQUIRED. (4) 1/4-20x0/18" LARGE—/ 'o' o e \
4. SECTION STEEL TO HAVE A MINIMUM 25 GA THICKNESS. E’:'}Eﬁ?(s%%"sﬁmgﬁ o
- 1
S. THE DESIGN OF THE SUPPORTING STRUCTURAL 1/4—20 HEX NUTS .
ELEMENTS SHALL BE THE RESPONSIBILITY OF THE 15 GA MIN VERT — | § [ K .
PROFESSIONAL OF RECORD FOR THE BUILDING OR TRACK c (]
STRUCTURE AND IN ACCORDANCE WITH CURRENT BUILDING o - e
CODES FOR THE LOADS LISTED ON THIS DRAWING. 4 HEET ° L
1/4-20x8/16" TRACK—" | ' Lo B @] ° v =
R JAMB TO BE MINIMUM 2x6, STRUCTURAL GRADE BOLT AND 1/4-20 HEX Lo . A EET A Lo = :
SOUTHERN PINE. REFER TO JAM Tl NUT AT EACH JB-US d K =
SUPPLEMENT FOR ATTACHMENT TO SUPPORTING JAMB BRACKET LOCATION A .0
STRUCTURE. d
N u i
5/16x1-5/8" LAG . .
SCREW AT EACH \ U 41
JAMB BRACKET = . K
w v
'O n 4 ,
— . o} -k
o . 2
_/ ® o
15 GA STIFFENED . e ]
JAMB BRACKETS ' i
SEE SCHELDULE FOR 0
QUANITY, LOCATION,
AND TYPE/ . o o]
KEY LOCK OR SLIDE LOCK o Mt
EACH END (NOT REQUIRED Lo e
WITH OPERATOR — SEE Ad ° g :
NOTE 4). SLIDE LOCK D O] .
SHOWN FOR CLARITY ' y 4 °
“ - EET ° °
e ° 7
0' Y
3 NOTE:  16° DOOR SHOWN.
%%wé&?‘g‘é’"mﬁ@r" SHEET 2 FOR HINGE AND S11LE
2 FOR U-BAR LOCATIONS <. LOCATIONS ON OTHER SIZE DOORS.
SUPERIMPOSED DESIGN PRESSURE &"c%%"gu":ﬂ“‘g"%n
LOADS ON SUPPORTING STRUCTURE NOTES 1 AND 2 THIS
500k | DooR sHEET FOR GLAZING
OPTIONS.
WDTH | HEGHT | UNIFORM LOAD EACH JAMB (PLF)
10-0"| ALL +230.0/—260.0
12-0"[ AL +276.0/-312.0
14-0"| ALL +322.0/-364.0
15—0"| ALL +345.0/—380.0 JAMB BRACKET SCHEDULE
16'—0" LL +368.0/—416.0 3 AM A IAMI
A / PROOR | s OF | BRACKETS BRACKETS MEASURED FROM BOTTOM
T (EACH JAMB) OF TRACK (ALL DIMENSIONS * 2%)
6-—6" 7 " (JB-US), 10" (JB-US), 21-3/4 —US), 26-3/4" (JB-US), 30" (JB-US), 48" (B-US), 57-1/4
7-0" 7 B .B—US;. 10 Js—usg. 21-3/4" (JB=US), 29-3/4" (& —US). 427 (JB-US), 52-1/2 JB=US), 6
7-6" ] .BZUE)_O" —US), 18-3/4" (JB-US), 26-3/4 US), 45" (JB-US), 54-1/4
-0 9 (B=US), 10" (JB-US), 21—3/4" (JB-US), 29-3/4 -us K B-US), 45" (B-US), 571/
Pe-o EEE NOTE BE Low

PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY Fm
VERFICATION OF WINDLOAD CONSTRUCTION

JOHN E. SCATES, PE
2560 KING ARTHUR
LEWISVILLE, TX 7505
FL PE 51737

TX PE 56308/F2203

BLVD #124-54
6

Digitally signed by John E. Scates, P.E.
Date: 2021.04.13 11:31:39 -05'00'

SERIES 170-177,

COMPLIES WITH THE REQUIREMENTS OF IBC/IRC 2018.

ALL DOORS GREATER THAN 8’ IN HEIGHT REQUIRE USE OF CONTINUOUS WALL ANGLE. SEE SUPPLEMENT TRACK CHART FOR DETAILS.

180-187,

AND INFORMATION,
ANY OF

IN WHOLEOR

THIS DRAWING

8 | 7

6

REF_DMG

1400,

R

NOTE:
(yB-US) FOLLOWING DIMENSION DENOTES SLOTTED JAMB BRACKET ATTACHED TO TRACK WITH 1/4—20x9/16" TRACK BOLT AND NUT AS SHOWN ABOVE.

1440,

THE DRAWINGS AND ALL OTHER INFORMATION WNTAINED HEREIN ARE THE CONFIDENTIAL AND szrmr PROPERTY DFWERI'EAD
Y NOT BE COPIED IN ANY ANYONE WITHOUT THE PRIOR
NmnmmopmrEASAucnsEmmnmmuml&nmnwwmmmmsmwmwmwmmmmm

STATIC PRESSURE RATINGS

APPROVED SIZES

1500, 1540

DESIGN PRESSURE(PSF): +46.0/-52.0

MAX WIDTH: 16’

MAX HEIGHT: 14’

MANNER OR DISCLOSED TO

IMPACT/CYCLIC RATED: YES
DOOR CORPORATION AND ITS AFFILIATED WMFANES THIS DRAWING
OVERHEAD DOOR CORPORATION.

MAX SECTION HEIGHT: 217

WRITTEN CONSENT OF DISCLOSURE OF

NE
T ——— """ SERIES 170, 180WL
T T':f'-OR 10/15/10] g9, 16' MAX WIDE
M._SAwick | 10/25/10 [
o wer D—411049
T. CLARK 4/12/21 [sme  NTS. [ wem 1or 2
1



[> notes

U=BAR LOCATIONS

13 GA ROLLER SLIDE ATTACHED TO
BRACKET WITH 5/16—18 BOLT & NUT
IN CENTER SLOT AND 1/4—20x9/16"
TRACK BOLT & 1/4—20 HEX NUT

(8) SECTION DOORS WITH

| (16) 3° 18 GA BO KSI U—BARS |
LOCATED AS SHOWN

THROUGH ANY TWO ALIGNING HOLES: H Iy
(2) 13 GA COMMERCIAL ‘A’ 2 g 8
E TOP BRACKETS EACH of . -3 (7) SECTION DOORS WITH
TTAGHED Wi c1s4) V10 (14) 3% 18 GA 80 KSI U—BARS
SELF DRILLING CRIMPTITE SCREWS ; | LOCATED AS SHOWN
I 1
ADD (2) 1/4—14x7/8" ! n! ' N '’ ! b
SELF DRILLING CRIMPTITE SCREWS DETAIL A
(INSIDE OF EACH INSIDE END HINGE; i X & X ] . o 5
g g
HR . N iH () SECTION DOORS W

2" STEEL ROLLER WITH 9" GRADE
1144 OR EQUIVALENT STEM AND
7/16" PUSHNUT AT EACH ROLLER
LOCATION. 1/4" MAX BETWEEN
PUSHNUT AND BRACKET OR HINGE:

(12) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS W
(10) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(2) 14 GA WIDE BoDY END
HINGES EACH ATTACI

WTH (4) 1/4—14x5/s
SELF TAPPING SCREWS DETAIL B

(4) SECTION DOORS WITH
(8) 3" 18 GA 80 KsI
U-BARS LOCATED

14 GA WIDE BODY 'AS SHOWN

INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4—14x5/8" SELF
TAPPING SCRI

12 GA EXTENSION BRACKET
ATTACHED WTH (3) 1/4—14x7/8"
SELF DRILLNG CRIMPTITE SCREWS
(2 THROUGH STRUT AND BRACI

14 GA BOTTOM BRACKET
ATTACHED WITH (2)
1/4-14x7/8" SELF DRILLING
CRIMPTITE SCREWS THROUGH
STRUT AND BOTTOM BRACKET
AND (1) 1/4-14x5/8" SELF
DRILLING RED SCREW

- : : INTERIOR FRAME /

EXTERIOR ; )
FRAME
SHEETMETAL SCREW

. 4 ATTACH U-BAR WITH

(2) 1/4-14x7/8" SELF
\ S DRILLING CRIMPTITE SCREWS
) 1/4" POLYCARBONATE AT EACH STILE LOCATION, TYP-
. |+~
’ .
5 JOHN E. SCATES 5 DETAIL £ STATIC PRESSURE RATINGS APPROVED SIZES
/ DESIGN PRESSURE(PSF): +46.0/-52.0 [MAX WDTH: 16
[/ (PSF): 0/-52, MAX_HEIGHT: 14’
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 217
THE DRAVINGS AND AL GTHER INFORMATION, CONTANED HEREW ARE THE CONFDENTAL 4D PROPRETARY FROPERTY OF OVERHEAD DOOR CORFORATION WD TS AFFILATED CONPANES. ™ THS DRAWMG
AID NEQRUATION, IN WHOLE OR N PART, MaY NOT BE COPED IN NY. MANNER OR DISOLOSED T0 ANVONE WITHOUT THE PRIOR WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION. _ NG DSCLOSIRE OF
ANY OF THIS DRAWING OR N oN(smanm-rowmmAucm:onunmnmmumt&nmnwmmmmmsmwmmmormmmmmm

SERIES 170, 180WL
WS9, 16 MAX WIDE

G. TAYLOR 10/15/10

2560 KING ARTHUR BLVD #24-54

LEWMSVILLE, TX "eSAWICKI | 10/25/10
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR FL PE 51737 o W= D_411049
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. TX PE 56308/F2203 o] mT e 4/12/21 bl e L
8 | 7 6 5 1




		2021-04-13T11:31:14-0500
	John E. Scates, P.E.


		2021-04-13T11:31:25-0500
	John E. Scates, P.E.


		2021-04-13T11:31:39-0500
	John E. Scates, P.E.




